' Y/
‘ LYNX -5° Di2 Stem Installation Instructions

#t AR )

REIEE ControltechZEm - Brf B I ZEHRIASWEBEEEREAAN  HRABURBELSTEMNERERBRIABRESLER -

RE

tiEE HiEControltechiZ M ZmIRE - HEERRBEERRESIHBANERRA (NERXWIE ) - EmEREHANEFZHBRER - BRRE L RESNHEHREBERNA -

ControltechfREIF EIfEIERABR ZBIR - AR HBZREIEEERAEMOMIE - UARBRRERRENERZTHHEE - B - hABUE - BNNBREm ENEY - 2EAESERER - BARVIER
AR ERERLEA -

EmaE / B
LYNX -5° Di2 Stem / RAS-96 Di2

=l
ORVA-L.N: |

@ UErHI=

® AIXERLEZExX] -
@ M6i244x1 -

® HEHEAXL -
® M5i244x6

ZHER A
1. FAMRAEEER] - BAERELEFPIRERTMUEEFRARL % - ENERESE~N—F -

@l O 2. BEEMIMNAZERRNATTHEERE  SERERER - BNFEAZIEHEBEE NI
- BER -
- D —~—o N o SEENE Y
®4ﬁ = 3. FRERUEEFREMNESE LB -
@l M S| (LA 4 FRUBMYRAERANE - KFAAREBEERKAZRELEARTREAERZEENSRE
l = AESE  ZEANREEUHEF FEBHGEUEZENETHE)  AEFHFUESHXUEE

R ERRZIBNBRINREE - WAFHAH CEHE -
5. HERBIEUBRNZEHT  BRUBERFLEFPRIEPRE  BUEMEHEL BFLTH
BYIOEE - HARBRTY - SHESARNEBFRERERIASE - WHKBUERRZEARN

/ \ LNt SN 2 |
LTI

www.controltechbikes.com e/ [/, /i




Y/
LYNX -5° Di2 Stem Installation Instructions

Thank you for choosing this Controltech. With proper care and installation, it will give you trouble-free, enjoyable use.
In order to maximize the safe enjoyment of this product, you should read and carefully follow the following installation instructions and warnings. Failure to do so could result in unexpected wear and/or failure, possibly resulting
in injury.

Controltech warrants this product to be free from defects in materials and workmanship for a period of two years from the date of purchase when purchased from an authorized Controltech dealer. This warranty is extended only
to the original owner of the product and is not transferable. Proof of purchase is required for any warranty service, so be sure to keep your receipt.

This warranty does not cover cosmetic or structural damage arising from misuse or abuse, including damage caused by crashes, jumping and landing, front end impact, falls or any other collision, owner neglect of regular
maintenance, improper installation of parts and accessories. Controltech makes no warranty if modifications, changes, additions or substitutions are made to any components. Wear from normal use or exposure to environmental
elements is not covered by this warranty. Controltech makes no warranty against any incidental or consequential damage to bike or parts, or rider injury caused by defects as covered in this warranty.

EmaE / B
LYNX -5° Di2 Stem / RAS-96 Di2

Components

@ Stem Body x1

@ Stem Face Plate x1
® Upper Cap x1

@ M6 Fixing Bolts x1
® Fixing Cap x1

® M5 Fixing Bolts x6

Stem Installation Instructions:

. Ensure the clamping area of your handlebar fits the bar bore of your stem.
. Inspect the stem for any defectives before installation and please contact the dealer or distributor if any.
. Ensure the faceplate bolts are lubricated by grease.

©

el
O

o

f

®4 4 . Put the (Wstem body on the steerer tube and align the stem to the fork. Insert the (5)fixing gap into the
$ steerer tube and tighten (4M6 Fixing Bolt by torque 8Nm.
(@OXNG A ol LA - Tighten (©)M5 fixing bolts bu torque 6Nm to fix the stem body and steerer tube.
l - Press (3upper cap to the stem body.

Dissemble (2)faceplate and align the handlebar and stem body correctly.
Tighten (©)M5 fixing bolts by torque 6Nm to fix the handlebar and stem body.

® N o o

— L7NTITH

www.controltechbikes.com B/ £/,




